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QUESTION 1

A Data Guard environment has this configuration and these attributes:
1.

A primary database

2.

A Physical Standby Database named sbhdb

3.

The configuration is in maximum availability protection mode.

Then shdb is converted to a snapshot standby database When two statements are true?
A. Sdbd can still apply redo

B. The recovery point objective increases

C. The protection mode is lowered to maximum performance

D. The recovery time objective increases.

E. Shdb can still receive redo

Correct Answer: DE

QUESTION 2

Which three factors can influence the rate of redo apply on a physical standby database?
A. the network latency between the primary and standby databases

B. the number of archiver processes on the standby database

C. the number and size of standby redo logs on the primary database

D. the rate of redo generation on the primary database

E. the number and size of standby redo logs on the standby database

Correct Answer:. ABE

QUESTION 3
You must manually reinstate a database using DGMGRL

To which database should you connect with DGMGRL before issuing the REINSTATE command and in which state

170-066 PDF Dumps | 120-066 VCE Dumps | 120-066 Practice Test 2/4


https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html

P 2L d https://lwww.pass2lead.com/1z0-066.html
aSS ea 2024 Latest pass2lead 170-066 PDF and VCE dumps Download

—— https://Pass2Lead.com

should the target database be?

A. The target database should be in NOMOUNT state and DGMGRL should be connected to any database that is a
member of the configuration

B. The target database should be MOUNTED and DGMGRL should be connected to any database that is a member of
the configuration

C. The target database should be MOUNTED and DGMGRL should be connected to the primary database.
D. The target database should be MOUNTED and DGMGRL should be connected to the target database
E. The target database should be in NOMOUNT state and DGMGRL should be connected to the primary database

Correct Answer: C

QUESTION 4

There are currently 6 APPLIER and 6 PREPARER processes running and no idle APPLIER processes on your logical
standby database. The MAX_SERVERS SQL apply parameter and number of archiver processes are both set to 12.
Identify two changes, each of which would allow you to increase the number of APPLIER processes.

A. Increase the PROCESSES initialization parameter

B. Increase the value for the MAX_SERVERS SQL apply parameter.

C. Decrease the number of archiver processes on the standby database. D. increase the PARALLEL_MAX_SERVER
initialization parameter

D. Decrease the number of PREPARER processes
E. Increase the RECOVERY_PARALLEUSM initialization parameter

Correct Answer: BE

QUESTION 5

Examine this query and its output: Which are true?

SQL> select fs_failover_status, fs_failover _current_target,

2 fs failover observer present, fs failover oserver host

3 from v§database:

FS FAILOVER_STATUS FS_FAILOVER_CURRENT_TARGET

FS FAILOVER OBSERVER PRESENT FS_FAILOVER_OBSERVER_HOST

BYSTANDER cats NO
017 example.com

170-066 PDF Dumps | 1Z20-066 VCE Dumps | 120-066 Practice Test 3/4


https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html

P 2L d https://lwww.pass2lead.com/1z0-066.html
ass ea 2024 Latest pass2lead 170-066 PDF and VCE dumps Download

—— https://Pass2Lead.com

A. The observer is not connected to the database on which the query was executed.
B. Cats is a bystander database.

C. The observer is connected to the database on which the query was executed.

D. The observer is currently running on 017.example com

E. The observer is not running, but should run on 017 example.com.

Correct Answer: A
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